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Arc Length: Examples SgESYMPLIT

. Find the arc length of the curve y = In(sec(x)) for 0 < z <

1
. Find the length of the curve y = z? — 3 Inz for 1 <z < 3.

. Set up an integral to find the arc length of f(z) = €2* from z = —2 to = = 3.

N

4

. Set up and simplify an integral for the length of the curve y = 16 + 2,2 1<xr<2
x
yt 1
. Find the length of the curve z = ) + L 1<y <2
Y

. Find the arc length of the curve f(t) =5+ t3/2 for 0 <t <1

. Set up, but do not evaluate, an integral to find the arc length of zy = 2 from (1,2) to (2,1).

1
. Set up, but do not evaluate, an integral to find the arc length of y = — for 1 < x <5.
x

. Find the length of the curve y = In(cosx), 0 < x < 7/3

2
Find the length of the curve y = % ——Inz, 1<z <2
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